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Question 1 (3 marks)
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Note: Product or quotient rule should be used.

Question 2 (3 marks)
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Question 3 (7 marks)
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Question 4 (3 marks)
log,(2x +4)—2logy(x +2)-1=0

log, (2x +4)—log, (x +2)2 =1 Ml
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x+2)x+1)=0

x=-2 or x=-1

But x > -2 and therefore x =—1 only. Al

Question 5 (3 marks)
X ~Bi(4,p)
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.'.p=00rp=§orp=1as 0<p<l Al
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Question 6 (2 marks)
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Question 7 (5 marks)
a. Let f(x)=0.
X cos(x2 ) =0
_ 2y _
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b

—d(sin(xz)) =2x xcos(xz)

) dx
.[Zx cos(x2 )dx = sin(xz)

J.x cos(xz)dx =%sin(x2)

Area= ITx cos(x2 )dx
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Question 8 (6 marks)
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c. Letg(p)=p+gq.
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Question 9 (8 marks)
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correct x-intercepts Al
correct turning point Al
correct shape and scale Al
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b.  f(x)=ax’(x -2) where a<0
Fx)=a(x>—2x?)
£'(x)=a(3x? - 4x)

Letf'(x)=0.
3x2 —4x =0 Ml
x(3x-4)=0
x=0orx =i
3
4
Sop=— Al
P=3
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c. The average value of g(x) over the interval [-1,1] is equal to —1.

Find q in terms of k.
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